—HOERADT—ILF IS — BREGAIFE

=R

D (S8BHE) TO (TFHHE)
(KRahEE - KaMETE) (EBRITE)

X5 ST H R X5 ST alp=is=3
2 7:30 s | ROBEEEDK [ R
WG 7:31 B |8 {hHET xiamzrs+ 149
INEH 7:32 ThE +4%
13RI 7:33 =8 +5%

5 [\ 7:35 L& +6%

o [T 7:36 M R +9%

- i 7:38 5 | NEH +11%
BH 7:41 A +12%

s = =2l

IO 7:42 _ & +15%
F 7:44 R +17%
= 7:47 Ao 118%
= 7:48 RIS +20%
THhE 7:49 INEH +214%

s | K38 R A AT 7:51 A +224)

SEIPSELGTi) 7:53 B2 +23%

%1) BAOETHRUGEITRA (. KBEHEEZFrihEgiREER, XathigdZiREw >
A —. RTESIPEPHBERERICAEE L CTULWD BRI —)L)GEITETE TTHE
BLIEEL

%2) ZEBFIOERNUVRIERAIE. ETRRICKDEIRITDIHBENHDET, ZF
BADER(E. BEICRBZE D CTHIBLIEE UL,



